
Seite 1





















WF317394; WF317395; WF317396

GARTENLOUNGE SET

ASSEMBLY INSTRUCTION
MONTAGEANLEITUNG
GARDEN LOUNGE SET








ä
äö
ü
ö
äü
üöö
öö




ä

ä
ä


ä
ö
ößö
ößü




à
éùé
èèéà
èé
èéè
éèéè
é



à





à
é
éçê


Seite 2



Seite 3

Explodierte Ansicht

F

C

C
M

M
S

S

H
I

KJ

D

G

E

A

E

P

Q

B

D

C C

L

R

R O

N

Exploded view



Seite 4

Ex3  Fx1 Gx1 Hx1

Ix1 Jx1 K x 1 L x 1

Mx2 O x 1 P x 2 Q x 2

Ax2 Bx2 Cx6 Dx3

Sx2 Rx2 Nx1

Part List & Hardware Teileliste und Hardware

1- Bolt M6 x 40 mm: 8
1-Schraube M6 x  40mm: 8

2- Bolt M6 x 15mm: 38
2-Schraube M6 x 15 mm: 38

3- Washers 6x18x1: 66
3-Unterlegscheiben 6x18x1: 66 4-Inbusschlüssel M4 : 2

4- Allenkey M4: 2 

5- Bolt M6 x 20mm: 20
5-Schraube M6 x 20 mm: 20



Seite 5

KARTONINHALT
WF317394

Fx1 Gx1
Mx2

Bx2

Ix1 Sx2Hx1

Ax2

Px2 Qx2

Cx6 Dx3 Ex3 Jx1Kx1

Ox1

Rx2

WF317395

L x 1

WF317396

Nx1

Hardware

BOX CONTENTS



2 3x4 x4 Bx1 Cx2 2 3x6 x6 Dx1 Ex1

5 3x6 x6 Ax1

50%

50%50%

A

3

3 3

3

3

5

5 5

5

5

5 5

C

C

B

3

3

2

2

3

3
2

2
2

2

3

3

E

D

2 2

2

2

3
3

3

3

SCHRITT 1 SCHRITT 2

SCHRITT 3

Seite 6

STEP 1 STEP 2

STEP 3



P x1 Qx1

P

Q

2 3x2 x2 Kx1

50%

K

K

2

2 3

3

SCHRITT 4 SCHRITT 5

SCHRITT 6

Seite 7

STEP 4 STEP 5

STEP 6

100%



2 3x6 x6 Cx2 Jx1

50%

50%

C

C

J
2

2

2
2

3
3

3
3

2

2

3

3

2
3

2 3x6 x6 Dx1 Ex1

E

D

2 2

2

2

3

3

3

3
2

2

3

3

SCHRITT 7

SCHRITT 8

Seite 8

STEP 7

STEP 8



M Sxx2 2

M

M

S

S

5 3x8 x8 Fx1 Gx1

50%

5

5

5

5
5

55

5
55

5

3

3

3

3

3

33

3

33

3

F

G

5

3

SCHRITT 9

SCHRITT 10 SCHRITT 11

Seite 9

STEP 9

STEP 10 STEP 11100%



5 0%

5 0%

O
2

2

2

3

3
3

2 x4 Ox13 x4

1 x8 3 x8

L

3

3

3

3

1

1

Lx1 Rx2

3

1

R R

SCHRITT 12

SCHRITT 13

Seite 10

STEP 12

STEP 13



FINISH

SCHRITT 14

SCHRITT 15

Seite 11

N

Nx1

STEP 14

STEP 15

100%

BEENDEN


